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SECTION -1
oTqug — |
CHILD DEVELOPMENT AND PEDAGOGY
EINREE AR NN ]

There are 30 questions in all in this section.
All questions are compulsory.

30 QU H HoA 30 I 7 |
¥t yea ST 2 |
1.  Which level of measurement is least used in educational psychology ?

(A) Ordinal scale (B) Nominal scale

(C) Ratio scale (D) Equal interval scale

Toreq weTfor=  fope Tt 3 WTHH ST =AW SR TR ST @ 7

(A) ShEEh HIG (B) HTiHeh ATOY =§
(C) 3ATuTfeh HTat (D) HHM 3=l HI9 HR

2. Which is the main philosophy of National Curriculum Framework — 2005 ?
(A) Learning vocational skills (B) Learning without burden
(C) Learning co-curricular activities (D) Continuous and overall evaluation

TER II=rl ER@1-2005 1 J&F 9H 1 7 7
(A) TR FHIAdT HIGHT (B) o =rer & i@
(C) wg-afires fafaferyi bl di@ (D)  Had Taq ST Yoo

3. Which statement is NOT true for Right to Education Act — 2009 ?
(A) Free and compulsory education for every child between 6 to 14 years.
(B) Provision of School Management Committee.
(C) Constitution of National Commission for Elementary Education.
(D) Minimum 60 hours of work per week for a teacher.

Trem =1 sAferepR At - 2009 % for 9 |1 e e T 8 7
(A) : ¥ Icg 9y o Y STeTeh o ol (:3eeh 9 Afant e
(B) Torarmera yawy wfafa w1 yee™

(C)  wnfhes f3ren o ford T STt <61 T

(D) 3719k o fordt Wi T8 = 60 Hvei o1 Hrd

4.  Who has NOT contributed to the development of Action Research in Education ?

(A) Kurt Lewin (B) B.R. Buckinghum
(C) Stephen M. Covey (D) Stephen M. Corey
e o Torameneh STgHe o forepra # fopem AneM T2 fea 2

(A) HEdfH B) .. afhem

(C) W& TH. hid (D) W% TH. BR
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According to which perspective, child development reflects a specific and prearranged
scheme within the body ?

(A) Environmental (B) Social

(C) Biological (D) Psychological

foper aftiea o TR aTet forehma IR % 31=et Ush fafire qen qdeafera yoreft ol guriar & 2
(A) STdEiE (B) HmHIfTh

(€) Jfee (D) HAISHTHH

Which of the following psychologists is NOT related to theories of child development ?

(A) Jean Piaget (B) Abraham Maslow

(C) Albert Bandura (D) Lev Vygotsky

ot TR 6 & B e foebre 3 gl & Tt T 2 7

(A) A s (B) 3TSITEH TrEet m;
(C) 3Fesd ogU (D) e aTEieeh! 22

Which method is NOT valid to study the role of heredity ?

(A) Twin study (B) Parent-Child analysis
(C) Adoption study (D) Peer group study
SRR 6l YfHehT < e o ford i ot fafr a7 @ 2

(A) Teal Sl b1 AL (B) AT -aTeTeh fargeryor
(C) TAH-TEU A (D) THIIEH THE AZH

The observable physical and psychological characteristics of an individual is termed as

(A) Prototype (B) Karyotype

(C) Phenotype (D) Genotype

T ek %! fe@Ts o aTell Cfgeh YT TG [RISaisti sl o &9 § GRwIa foma
A8 |

(A) SIeEd (B) IR

(C) HHREY (D) SfFrersy
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9.

10.

11.

12.

13.

)
Which test was created by Henry A. Murray and Christiana D. Morgan ?
(A) Sentence Completion Test (B) Sixteen Personality Factors
(C) Thematic Apperception Test (D) Picture Frustration Test
TR . R a9 forfeeamn €. A g s a1 wiegor ffia fopam w2
(A) 9T gfd oo (B) Hictg SAfhed 3T
(C) YT TR qeqor (D) To= puar wlieor

Which factor is NOT related to growth of a child ?

(A) Nutrition (B) Health
(C) Sleep (D) Domicile -
e T <61 95 § T B A T R 7 m
(A) TN (B) @TE
(C) Tz (D) 3AfEmE

Which dimension of development is influenced by the theories of Noam Chomsky ?

(A) Language development (B) Moral development
(C) Emotional development (D) Cognitive development
TershTar =61 =hiA @1 31T Y <okl % fagr=al & ywifed g3 g ¢
(A) T T (B) fces forepm

(C) wrdfire fashra (D) WIS T
Individual differences in temperament are basically

(A) Learned (B) Innate

(C) Acquired (D) Cultural

TuTe H SREd fIfeand sTyRy@ &9 8 B g |

(A) el (B) ST

(€) wfnrEa (D) i

Who has NOT propounded any theory of personality ?

(A) B.F. Skinner (B) Sigmund Freud

(C) Gordon Allport (D) Ramond B. Cattell
foper =afehea o fopelt oft g =1 WfoTfed 18 fepa 8 2

(A) .U @R (B) fermve wrre

(C) TS AT (D) WUE i, A
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15.

16.

17.

18.
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The term mental retardation is replaced with which term ?

(A) Intellectual disability (B) Mental weakness

(C) Intellectual backwardness (D) Intellectual disadvantage
HTfdeh fermfeed we ot forr ug o wmer wfeeenfua form mn 2 7

(A) wifges I (B) WM AR

(C) diifge fssrH (D) difgeh Sfdegerar

Which of the following is NOT true for the theoretical concept of personality ?
(A) Stable (B) Normal

(C) Enduring (D) Unique

Sfhcdl 1 HgTi=reh @O & Rl fra d d s e aa T 8 7

A) fer (B) €M m:
(C) wmh (D) 3T 3
Which test is culture-free Non-verbal test of Intelligence ?

(A) Group test of Intelligence (B) Weschler Adult Intelligence Scale
(C) Bhatia Battery (D) Standard Progressive Matrices
I |1 A0 I GHTT hT Tl -t ST—aTreeh T 2 7

(A) Ffgad 1 aqg W (B) TR IIEh fgHT HIGH!

(C) wrfean sk (D) WvgE ynifye ffeas

Which intelligence is NOT included in Gardner’s theory of multiple intelligences ?
(A) Intrapersonal (B) Naturalistic

(C) Emotional (D) Existential

T ggHanati o MR o fagra § i ot gigw aftrfera T8 7 ¢

(A) 3d:3aREH (B) WTehfeh

(C) wrafih (D) IIfETEHRY

Creativity is associated with which kind of thinking ?

(A) Overthinking (B) Meta thinking

(C) Reflective thinking (D) Divergent thinking

TEFTeehdT T % i ¥ JehR | T & 7

(A) At fa= (B) Afg-fa=m

(C) Tomsff fomam (D) AERY fa==
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19. Which method is NOT directly related to children with special needs ?
(A) Diversity of curriculum
(B) Development of sports and extra curricular activities
(C) Different teaching methods
(D) Training for special activities
foRIY STl aTet STereh! < @191 i € e weaer ®9 9 gt 38 @ 7
(A) UTeHsRH 1 Tafirien
(B) WcAha o Afh TIGTshH Tt fe=i o1 fohra
(C) T faveqor faferat
(D) ey nfafafer < for wireqor

20. Learning disability related to reading is termed as
(A) Dyscalculia (B) Dyslexia

(C) Dysgraphia (D) Dysthymia Eﬁ
UG § TrefRrd I JemAr Rl SIS |

(A) Tewherspier (B) fewifagan

(C) feaiftean (D) fezemsfirn

21. Children who are deprived of minimum basic facilities are classified as

(A) Delinquent children (B) Special children

(C) Disadvantaged children (D) Backward children
I ST iIenaii & dfera sretret sl e w9 8 affepa foram smar 2 -
(A) AU qTeTH (B) fafyrs st

(C) wideper aRfeazred sTeTeh (D) Toee aere

22.  Which of the following is a behavioural symptom of maladjustment ?

(A) Aggression (B) Anxiety
(C) Insecurity (D) Apathy
=1 B & B |1 UG 1 SHIENIcHS &0 R ?

(A)  SATHTHHAT (B) Ta=m

(C) rgiam (D) 3T
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24.

25.

26.
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Which statement is NOT true for the concept of learning ?
(A) Learning is the change in behaviour.
(B) There is a relatively permanent difference.
(C) Learning is influenced by practice.
(D) Learning is an innate mechanism.
AT hl STEURON % o S A1 HoU T T2l & ? E%
(A) e =rEER ¥ ufedq 2 | e
(B) 3TUeTTehd &Y & TRt 3= qitetféad 2 2 |
(C)  3TfemTH 313 g qTferd 8 @ |

(D) ferTH Uk TSI Uik R |

Classical conditioning theory propounded by Ivan Pavlov explains learning by

(A) reinforcement (B) association

(C) 1imitation (D) insight

3 TiaarTd gi Tfeqaiead e sTge-e fagr=a stferms st fre o g awemar &
(A) TS (B) wrE=d

(C) ITF (D) 3

Which of the following is NOT a process of learning for children ?

(A) Reflection (B) Argument
(C) Maturity (D) Imagination
1 5 A ol it STk < T Jrferm 6 wfoRan 78 @ 2

(A) ifersa (B) T

(C)  fderar (D) T

The concept of reward and punishment in learning is introduced by whom ?

(A) E.L. Thorndike (B) Kohler & Koffka
(C) B.F. Skinner (D) Albert Bandura
JRTH § QEhR 9 U hl LT feheeh GRT STl <l T8 & 2
(A) 3.Ud. gHeEH (B) hIGeR 9 HiTehT

(C) . @h™ (D) 3Tcee agU
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27.

28.

29.

30.

)
Which process is NOT directly related to role of motivation in classroom learning ?

(A) Knowledge of progress and result (B) Interpersonal adjustment

(C) Praise and criticism (D) Level of aspiration
el AT | Ffrsieer <Al ftrent form wfshan @ Touer w9 | wefd 96 @ 7
(A) TR QT qROTH 61 9 (B) IAqdafheh HHRISH

(C) ITET AT AT (D) TSI &R

Concept Mapping in Education was introduced by whom ?

(A) Carl Jung (B) Martin E. Seligman

(C) Noam J. Chomsky (D) Joseph D. Novak

Toreqn & sraemoen wrfET foheeh g gt fekam mam 2

(A) et (B) e 3. Hfermi -
(C) i\ ST, STaeh! (D) SO €. T Eﬁ

Which type of teaching is NOT based upon objectives of teaching ?

(A) Cognitive teaching (B) Descriptive teaching
(C) Affective teaching (D) Psychomotor teaching
Tretor 1 1 @1 TepR fR1eToT o 3eTEl W SnUTia T § 7

(A) HFHTCHS fremor (B) aiATcHes freror

(C) aTcHs f3reqor (D) HAITcATCHeh T38ToT

A group creativity method for solving specific problem by gathering a list of ideas
spontaneously is known as -

(A) Brain storming strategy (B) Mastery learning strategy
(C) Problem solving strategy (D) Heuristic strategy

gfiferd & foram <t gt & ThaAv o g faRTe Twen o qenem 6 \qg TS iy i
gl STl &

(A) Tfeassh fawra gih (B) w@firca Aferm I
(C) 9= gHTYH Yfh (D) 3o IRk
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Qug - 11
T -1
femal
39 @UE U FeA 30 T 7 |
it we e § |

FrfarRaa e & STTYR W 99T T 31 | 40 T o ST ST

TEd: T TSGR TET W SN B 8 ) oigeh W T AR U <l 97, ew &
3E, &€ & W THhIC(H JAT hl aeish 3R ABLEA % AW H g9 T&dl & af goll 3
TEATcHehdT T <aTd Tadl & | a1 31fres o8 el gim, 3am € 3Afieh o8 3ot eardl 1 Tfauy
T G T, THT 31 &1 3719k Tohel a1 | $eh STTHR &1 T Th 91d g Hi T =1ie b Sa
TR o= 1 Tafeq M, 9 I8 3Mmavee T8l Wl foh Ted AT haet 3ot & 3 35 € w
St fob T & qd i TRET § wfeud 6 g off | HRor g g 6 wafed g1 H whrn A @ sm W
I <1 gaTe M TR | S I8 TTE 39 fehdaT 3T 8 dedt SR, I8 9H fU ST 1 IS
TG & BT | I8 1 T o S1¢ & ST ST & foh 3R W& T 2 | T & herrhid ® ud fafeared
T&d g, 3 3un UEt =5 oft greht 2, Toreh fa T TeeTeR wem 71 &, 9% S1aves 6l | 98 S
g1 It & T v 1g frem 7€t & fop o 9t 3R 3 €1 st Rraen or@ss A =T8T 7, 9% 359 Y
1 3ok i St Gehell @ 3N Hi-HuR fqodia i ST Ted) 2, IHh1 @ I8 2 | I He=idd 1
TaTE 39 Avft Y WIS 9 ot 310 Y9TE STetaT 8 | gorEl S had @ fob “fotaa gy, fetfee wg”
I8 TE1 2 | TTIT Heteh o1 THE 331 I & w1e ofY, ofion Frei & 3o & aHE’ oSt <t i
ST} TR T T |
31. ISl vIeg SR % AMUR W E —

(A) dgHd (B) dcEH
(C) fercaft (D) <

32. ‘GUTeR I TATHETE WG & — -
(A) T (B) Eﬁ
() 3=TH (D) ®eE

33. ‘el HorgAT o &9 H TP g3 & | TR o foy Iugerd et & —
(A) gd (B) ®FSHIY
(C) wafed (D) |

34. ‘39T’ I 1 Ty S1sg S o 1w whiv @1 Suent w3 g 2
(A) 3 (B) 3M

(€©) (D) 31
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3S.

36.

37.

38.

39.

40.

41.

(11) D

AR’ Teg § W Yo & —

A) ¥ (B) =

©) % (D) Fr
Tafgarel’ sig B |l 8 -

(A) ITHE (B) & @fy

(©) TRy (D) dghg &t
frafafgd st A @ s A 2 m
(A) 3iRms (B) =& Eﬁ
© w (D) T

‘FTER oG H HH AT g ?

(A) IT-9Ta 9™ (B) dcYeY GHE
(C) ggu|™ (D) Tg oM

‘T8’ Iee H HeAH & —

(A) TreaamEs geTm (B) HegaTE TaA
(C) Trstar=e weAm (D) I TEIaTEe Tea™
A e R R GHR ?

(A) HfedeT= T (B) SiTTrameres &1
(C) &A= |3l (D) WTereT=eh B

FrfarRaa ey & 3TUR W I T 41 T 46 TH o T b I N ¢

WTST, €, TEICT 3T & <hl WTaHT ol TFT T <oht & TehlviaT § S=1 o1 Fehal & | Tt
FS UY 12 ATUY T 8 Hifeh 371 Tft geehi o1 AT TP & FRU G ava 8 | Uy 8 af fafi=
qTeTd 2, o €, T & 3R il €, o7a: Y < fod U gn T smensii &1 i qo T8
T MW | AMET gRT I HE TG & ek AT A el o1 a2 BsT i fedmedt 2 |
ag afea w1 fafir ot § fonfra 7 svtar | ‘o 1w’ § st €9 6 afis B, a9
SIcT 1 Hfecd shi 317 TIenati gr STeH! i 3TeHt & ST ST Tehdl & | I8 il IRA ot gam
2 T TR saeh TuTe It feard i 2ar | e 3R wifecd o 3 3tfies TER-TER B
IIET | FEATYT i - T, FaTe, AR qem S=i-aTaisti & gl au ¢ § TE 4euTe
3T |WEl I STATeRYT ST SAER 3 | FHER, TH-Uben, e, gasH, fher ol mem
IE T TR & TR o1 e i e T 7 | ot X A gy’ ¥k wfa sxfer i st
AT & YT TY & Ui g6 T=a 8 o foTu i et & | 36t JohR o Jamd Afg dresieh
Tl wifged TeyTd ol ol QU U h1 g4 Tehdl & G 1wt Fehd & |
“Sfet 38 BT Tehere BN
(A) STt (B) ST
(C) Tt (D) ifd
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46.

47.

48.

49.

50.

51.

(12) PL-2

‘Terradl’ wrsc w1 3T R

(A) whiet (B) werardt

(C) wemrE (D)

“TIH IR TS W2 |” SH A I AT HIA 8 7

(A) HHTST T4qH (B) e Fdqe

(C) quf oM (D) TR SEHH

‘T’ weg & —

(A) swfe (B) gfeem

(C) FgERfeT (D) wiferm

‘Ao’ T6q 1 TgAT €Y B : E%
(A) oA (B) oHferica Bl
(C) Afer (D) fFe

ST o “HTET T2 hl Ak fal ET 3 :

(A) W (B) W

(C) ¥mrm (D) W&l

T h 3T 3

(A) I (B) fat=

€ TFa@ @@ eiaddl (D) THIABE T
ST 9T YT 356vd UE A 99 | o1 &1, 9% heend

(A) SWTEHT ST (B) ITA IuaTeR

(C) Hehdreeh 3= (D) TUH 39T

It IS TR T 31 7

(A) 39T AT (B) ToUsht wgd T
(C) & (D) & W@l

Tt -1t 8 Sfie fora & 31ed ® Suge Arhifad 8

(A) 3T T W =IE@ (B) 3UHT ST IR Ia
(C) 38 Al I <o (D) 378 IR A FER

ferenffari <pt qecent < weAw | wryT i gt el wa ol b I Hue 3% e foren %
ShiIeTel H g&1 Tora STTaT B | 39 farfer o6t et <t @

(A) T S=mTSTTe fafer (B) i wE fafer

(C) TTgA-gereh fafyy (D) @ forfy
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52.

53.

54.

5sS.

56.

57.

58.

59.

60.

(13) D

e JUTTedt <1 TSR feree fopa ?

(A) Tererdfess 3 (B) Sleead
(C) wweHd (D) UTheR o
STH IUNTH % JIER fare i Fradt wfman 3 affirferd e
(A) TR (B) AR T
(C) TEThLol (D) FER IR

et IR Sl a9 Id 17 7

(A) 3Terg fotaa s frers feremeff <t wrgrerar 1 & |

(B) 3@ T ScTeht fef@am™ AW |

(C) 3Tei@ H 378 i FTae o5t & Bt =nfee SrEf fop aesi s # & |
(D) e aeft frshed el 2 |

T - f3TequT <hT v - e T § — m:
(A) o foreames @ (B) TTHIHH Eﬁ
(C) = (D) Teshis

TTH  UTGATETh o T=d1ieh €Y H AT aed el & —

(A) WS (B) faw wmft

©) foer (D) et

freferfiaa & & 9TST JEAehTe™ T A S T ?

(A) et fireqor & gfd (B) &A™ & oAU X
(C) Topea (A)TW@@B)SHi T2l (D) TH A B Al

T & Hifges henati H e -

(A) U 3181k Ueh TH T Ueh & BT <hl G0N of Tl 7, 3T THT 3Tfeyeh 11 2 |

(B) T wieaaii sl a8 TE ST S Tehe |

(C) 3 afiemati @ foramefl & i wmarh et — A, Te 3R S 1 Tsh T J19 fekan
ST HehaT 7 |

(D) 37 q0ea & foranefi o oiEe hivret o1 719 T2l o Hehd ¢ |

ffeRad o & Suafed adeger < fwior og afffd o @ M T A& @ 7

(A)  SKI&I0T FISHT ST | (B) wRieTor o Uik T <hl T&AT AT |
(C) wltegur o1 QAT (D)  iegur <1 ST
T Td AT Yo JUTTe! 1 QY &

(A) 3769 FUIT=R 8 B areft whter (3w) & foremeff @ o srermsiicl wa € |

(B) fareren feremeff <61 srrerveres e ve qumsl it qd @A 2 |

(C) ferameff w1 3ro+t =it o1 9 AU g @ 2 |

(D) Tereneff o o WX wdier 1 W &1 A 7, e sueht wnfess foehra yenfaa gman g |
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Read the passage and answer the questions (Q. Nos. 31 to 35) that follow :

31.

32.

33.

34.

3S.

A marriage as early as that was the last thing on her mind. She threatened her parents
that she would never marry if she did not get a proper education. She left home and got
herself enrolled in a school in Delhi. When her parents refused to pay for her education, she
politely informed them of her plans to earn money by working part-time to pay her school
fees. Her parents then agreed to pay for her education.

The synonym of ‘refused’ is

(A) granted (B) denied

(C) permitted (D) allowed

The antonym of ‘politely’ is

(A) courteously (B) humbly

(C) rashly (D) angry E%
The correct spelling is B
(A) acadimision (B) academician

(C) acedamician (D) academision

The verb form of ‘enrolled’ is
(A) enrol (B) enroll
(C) enrollment (D) enrolment

‘Part-time’ stands for
(A) working less than standard hours (B) working in parts
(C) working in obligation (D) working for no remuneration

Read the passage carefully and answer the questions (Q. Nos. 36 to 40) that follow :

36.

37.

Friends had conjectured that the bear would not recognise her. I had thought so too.
But while she was yet some yards away from his cage, Baba saw her and recognised her.
He howled with happiness. She ran up to him and petted him through the bars, and he stood
on his head in delight.

‘He howled with happiness.” The underlined verb is in tense.
(A) Present Simple (B) Present Perfect
(C) Past Simple (D) Past Perfect

She ran up to him and petted him through the bars. The underlined word is —
(A) interjection (B) conjunction
(C) adverb (D) preposition
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38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

)
Choose the conjunction :
(A) her (B) within
(C) the (D) but
The determiner is
(A) and (B) had
(C) the (D) up
Choose the correct comparative degree of ‘happy’
(A) happier (B) happiest
(C) more happy (D) most happy

Choose the right question for

She sold all the articles for no profit. E%
(A) Did she sell all the articles for no profit ? B
(B) Did she sold all the articles for no profit ?

(C) Does she sell all the articles for no profit ?

(D) Do she sells all the articles for no profit ?

Choose the active voice of

Saina had been supported by her maternal aunt.

(A) Saina supported her maternal aunt.

(B) Saina’s maternal aunt supported Saina.

(C) Saina’s maternal aunt had supported Saina.

(D) Saina’s maternal aunt had been supported by Saina.

The saint chanted, “God is great.” The indirect speech of this sentence is
(A) The saint said that God is great.  (B) The saint told that God was great.
(C) The saint said why God is great. (D) The saint said whether God is great.

The word for the phonetic transcription / I'mi:dratli / is

(A) emidiately (B) immediately

(C) imitate (D) immediate

The number of vowel sounds is

(A) 8 B) 12

(©) 20 (D) 24

‘The knowledge can be stored in mind permanently.’ This principle is termed as
(A) Aptitude (B) Gradation

(C) Concreteness (D) Selection

Words that are understood and constantly used form

(A) limited vocabulary (B) active vocabulary
(C) passive vocabulary (D) constant vocabulary

Dr. West’s comprehension test was
(A) non-linguistic (B) linguistic
(C) comprehensive (D) structural



49.

50.

S1.

52.

53.

54.

5sS.

56.

57.

S8.

59.

60.

(16) PL-2

Variables can be interchanged in
(A) Simple substitution (B) Compound substitution
(C) Grammar (D) Phrases

‘New words at early stages should refer to objects and actions which can be shown and
demonstrated in the classroom’ is a precaution of

(A) Structural Approach (B) Situational Approach

(C) Bilingual Method (D) Direct Method

The exercise of listening skill is

(A) Sports commentary on a radio (B) Advertisement board

(C) Pamphlet (D) Poster

Which one of the following is a measure to improve bad handwriting ?

(A) Use of ball pens (B) Wrong habits

(C) Proper posture (D) Writing carelessly !ﬁ

I

is not a technical characteristics of a text book. H:

(A) Proper spacing and margins (B) Good quality white paper

(C) Lengthy texts (D) Readable size of the letters

‘Blackboard’ is the aids for teaching.

(A) technical (B) cheapest

(C) modern (D) physical

Audio-Visual aids save

(A) money (B) interest

(C) effort (D) wverbal input

Students improve their critical thinking in

(A) peer assessment (B) portfolio

(C) cloze test (D) writing tests

CCE is carried out in classroom.

(A) strictly (B) formally

(C) informally (D) timely

CCE is not successful in

(A) private schools (B) crowded classrooms

(C) small classrooms (D) government schools

For a good test in English
(A) language must be lucid and clear (B) the text-books must not be used
(C) the questions must be complex (D) the questions must be simple

‘Matching Test’ is an example of
(A) Short answer type (B) Long answer type
(C) Essay type (D) Objective type
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52.
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SECTION - IIT
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Multilingualism in classroom can be used to : (Choose the irrelevant option)
(A) teach all subjects

(B) teach about diverse cultural groups

(C) teach only languages

(D) teach the lesson of equality between cultures

Which one of these is not a part of remedial teaching ?

(A) Teaching afresh what has not been taught earlier.

(B) Teaching afresh what has been taught earlier.

(C) Suspending the part of learning the new items.

(D) Preference to reinforced practice of forgotten parts introduced earlier.

Which one of these is not a challenge of teaching English ?
(A) Determining the goal of language teaching.

(B) Several methods in language teaching.

(C) Large class size.

(D) None E%
Written Tests and Examinations are not meant to test : B
(A) Vocabulary (B) Translation

(C) Pronunciation (D) Composition

The concept of evaluation was introduced by :
(A) Dr. West (B) B.S. Bloom
(C) Thompson (D) Wyatt

Read the following passage and answer the Question Nos. 66-70 :

“Wind energy” is derived through a process where wind is used to generate mechanical
power or electricity. Wind turbines convert the kinetic energy in the wind into mechanical
power, which can be used for specific tasks (such as grinding grain or pumping water). A
generator converts this mechanical power into electricity.

¢ ’ may be an appropriate title for the given extract.

(A) Kinetic energy (B) Electricity

(C) Generator (D) Wind energy

Fill in the blanks with appropriate linking devices which are given below : (for Q. Nos. 67-68)
Wind is used to generate mechanical power electricity. (According to the
passage)

(A) either —or (B) but-—also

(C) neither —nor (D) so—as
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Turbines generators are used to convert energy. (According to the passage)
(A) neither —nor (B) both—and
(C) but—also (D) as-—as
A generator with turbines mechanical power into electricity.
Choose appropriate verb to fill the blank :
(A) convert (B) have converted
(C) converts (D) are converting
Mechanical energy and electric energy the different forms of energy.
Choose the correct option to fill the blank :
(A) are (B) is
(C) have been (D) was

Read the following stanza and answer the questions : (Q. Nos. 71-72)
What this life if full of care

We have no time to stand and stare ?

No time to stand beneath the boughs.

And stare as long as sheep or cows. Eﬁ
Choose the correct rhyme scheme in the above stanza : By
(A) abcd (B) abba

(C) aabb (D) baba

Which literary device is used in the second and third lines of the stanza ?

(A) Alliteration (B) Simile

(C) Metaphor (D) Personification

In Saxon strength that abbey frowned.

Which figure of speech is used in the above line ?

(A) Metaphor (B) Simile
(C) Personification (D) Epigram

I must confess that it my quest, I felt depressed and restless.
Which figure of speech is used in the above line ?

(A) Personification (B) Assonance
(C) Metaphor (D) Epithet

Thy soul was like a star, and dwelt apart.
Choose the correct option of the figure of speech which is used in the above line :

(A) Personification (B) Metaphor

(C) Pun (D) Simile

Choose the correct Modal Auxiliaries to fill the blanks for Q. Nos. 76 & 77 :
I swim across the river when I was young. (ability)

(A) can (B) may

(C) could (D) might

I thought he be at home. (possibility)

(A) might (B) may

(C) can (D) will
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78. Prohibition is ‘gall and wormwood’ to distiller.
Here ‘gall and wormwood’ means :
(A) helpful (B) hateful
(C) hopeful (D) wonderful

79. He ‘stood his ground’ against adversary.
Here ‘stood his ground” means :

(A) stand still (B) did not fall
(C) maintained his position (D) maintained his game
80. Petrarchan Sonnet is also known as :
(A) English Sonnent (B) Italian Sonnet
(C) French Sonnet (D) Shakespearean Sonnet
81. Plosives consonants are :
(A) |p,b,t,d| B) [t |
(C) |m,n,n| D) [£v,6,0]
82. Which is palatal consonant ? E%
(A) |h] B) [0] B
© 15l D) [1]
83. The phonetic symbol for underlined letter in the word ‘tile’ is :
(A) Jer] B) [or]
(C) [AI] (D) ar]
84. Phonetic transcription for the word ‘hang’ is :
(A) |heing | (B) | hey|
(C) |heng| (D)  [ham |
85. Phonetic transcription for the word ‘jester’ is :
(A) | dgesto(r) | (B) | jesta(r) |
(C) | dzersta(r) | (D) |jelsta(r) |

86. Which one of these is not related to passive vocabulary ?
(A) words are recognized.
(B) words are understood.
(C) words are often used in speaking and writing.
(D) words are never used in speaking and writing.

87. Motivation is a process of :

(A) arousing interest (B) maintaining interest
(C) controlling interest (D) all of these
88. Communicative approach to English teaching means :
(A) Informal approach (B) Group competence
(C) Communicative competence (D) Communicative appearance
89. How many components are essential in the process of communication ?
A) 3 B) 2
<€) 4 D) 5
90. The communicative approach in teaching of English has been practiced and developed in :
(A) India and England (B) Indonesia and Japan

(C) England and America (D) China and Japan
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QuiaB T T YII I
(A) YHOIHII T (B) 3= Td
(C) fermiega=™ (D) wifamrereg =
81.  getdtfde-asd|
(A) FYI BET YT (B) #A== <t JtEa3T
<€ 33 (D) &9
82. »f3gEaty  SAfguraerd:
(A) TH3II (B) fors
(C) wif3Bat (D) =Es
83. foMaagre AEE = :
A) G3u9 (B) o

(C) fom&a3T (D) ¢u
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86.
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73 3 UfTd wifor3Ha =9 J ¢
(A) wATdtEg (B) JadtdtEg
(C) HWBIgdteg (D) Hzdteg

gt g f39 foamm Hae Tt =93 faad I9a= Bet 38 T 2
(A) U< 9333 Iga= Bt (B) g9HI BE
(C) Tfenet fed33a Jga™= Bet (D) Je 933734 &= BET

famf™s & Aelfd 394 A § WISt S Ut ST udeBes er et Arus 3
(A) Afrmug (B) fefomrfex

. !!
(C) HIYIH (D) YAs= Eﬁ

PN NN A

e nifUg §78d <F 39T, o™, 37296 3 WII3T § oed 199 99 o ITHT fmrSer J 3 €9 09
W&ef93 I & fiue I3 |1 37 63 faa3 fifir o S =a3 a9 faar Jer T

(A) wifenma = g3 (B) ¥-J<d3 < fHU3

(C) sz9zfaus (D) w35 U3

3T, fimrg, oy, fia™, farasT, »ag »ife € 37 AHse 39 °9 3 < AgTfed B J :

(A) FIE NS (B) fouzdms
(C) VI IHB (D) U3JIT&T NS
T fHft T 1S9 98 fous 77 HE U © Ho3eyds Bo fRe AHs &1 J

(A) Sfonf 339 fonrs 578 Aea <t e fean3 aaat |
(B) I1t, Hed3™ 3 AUHCS 55 fous € 91 fean3 aaaT |
(C) fefonrgdt fenam gt & 293 a9 &t fifue |

(D) S9Tds, Y 3 Iy feds fafonmis 3fde 75 |

I fafmir ags fam fitfmr ezt = J -

“Wfmug § feg 4t 37 AHs & Irdier J 3 §F Heh fes @96 <t 78 3 @i fadt As
TIs I T | 7€ IEt 59T 98 iy &7 J 31 93 88 fder 9 | fen 397 A< 99T A v fe9
feissT gfrs sg 8 3, 3Tt usd ez gsfder g 1

(A) SeoTes (B) §w3d

(C) ¥ (D) #.6.9¢s
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62.
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64.
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AL A LA LR U SHIS 66 20l 68 G @il :
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i — 11
GUNL— TT
doxRIcl

L V{SHL §E 30 WAL 8.

€38 UL oalod AL 5 (oYL €.

[lotxt Us1RAL UL HAULEL §R SR HI2 Bl USIRAL WAL 3UAL SRAHL UL &

(A)  @ilseLusR (B) UELUSR

(C) 251G UsR (D) SlsLUSR

2351 olrllell SAZIHL ARAAMIRIL 56 215 sAZLAL AHIALL Al 2L ?
(A) el assl sl (B) 2yl Yo sl
(C) U5 YoH sl (D) Asel Yo s

L, A SIUCA HIZrl HEAUIS 5H HIUESHL ARARI] 52U el25lAl AL AL ¢
(A) AU (B) 245l
(C) ACERSIN (D) Ygadl

o[z olrlladl avd ARl 58 otlotd AEAN w4l AL UL © ¢
(A)  Sqil, AERL A UM (B)  [dnard, SAl 2 UHIAL USR,
(C)  UHALUSR, [Avarg 2t [Qenelld (D) ([AvaeiRd, Sqil 24 [AsiiiBist,

ARl 21848 BaUREL WHNA 516 218 WRIRS sIRQL LUl
(A) S M (B) &E&d
(C) sl (D) =™

=5

YRtslll Hall HirdlAdl arasdRHl HeaAl (1L Govd 8. R0is s8dl, “§ ARSHL MEL AR

YRSl LA 53181, 5IR0L S dHAHL Deell Wed © 7% d al ¢ Al RAM el otll o3l

RS54 ‘Unto The Last’ YeisHiall el acuedl Uzel Hol ¢dl ofldl 244 cudoid oydl

Y5l ald-l s dlsid Bet 29ad Hig-l U6l HOdL €L 6. AHRUL, HELHRA 24 ¢Hldd

oycll Al AR AU5[AA 251l AAUHL HETAAL GO HYRAL 8. ALYA AL UL 245 Elsl HLe

TROUEIS Al €.
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HiAdlAL 2 dAESARHL Sl ALIELA HecYul & ¢
(A) Al (B) [l

(C) Rl (D) &R

“aledlon A Ul UL HOW edl.” dlsuHl ‘Udae” 2od-l A g2l wsl.
(A) U+ 2HAS (B) U+ 2UAS
(C) U+ U (D) U + AL

!ﬂ

| %

54

N el 53 llMs Ul s ¢

(A)  29a UscRe HeTd (B) sl 3l
(C)  a-uRRIL (D) sl

A2 AU URLLLAL AR UHSHIS 69 2l 701 B el :
A8l RAHL MG, AR HOL A HOL

531 24 224 23[dU2 BUR HOL 4 MaL

GRL @l HURAHL AL YaluAL £ R,

5| AL HIZHL HlAL 2RUR HOLA O
YRR BRI M Al €l

L SUtl USRL, AL HlsL Aoy HOL A HUL
ML Al AL, RAAL, GURIRAL 6lldl
sl Sl 515l $01R HAL A HOL

UL AL € A LR 532 ATATHL
MLEl UFRHL 516 SHUSR HOL A HOL
da-l Hnall W 6=l @B 2ulea,

2R AL Y01 US| GUEHR HOL A HOL

s B Y Rl Al Al 3 6 9

(A) 8l A= (B) el wiel
(C) Wl gl (D) &l USRL
Ul s(Actal A vl 53 2l sl ¢

(A) dd--dlHyn (B) MUl UL
(C) Mg LR (D) Ul UL
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(A)  &2ls A (B) UMbt A
(C)  Y3MARS UdIH (D) 2AUUS UM
“OLUIR A8 HIg (USR] AR 6. AL SULACSR 6 ¢
(A) 3us ACsR (B) Bclail HesR
(C) GuHl¢AasR (D) UcRs 2SR

‘Y UYUACO D $UL 656 GIHIREL S ¢

(A) ™slsll (B) el m
©) RoAkel (D) kel Eﬁ
“SHRUL AL oAl Al AL USRAL B € 9

A)  Alaus Bulazmel (B) aunas [saufaimel

(C)  Sqaus Balldamel (D) AHAUS [Fuildamel

‘A ALS slgl 2l 9 AL S USIR AAYS © 9

(A)  [QRlaas (B) [Aseudus

() RS (D) eviddlus

‘AL [l @ bl disael s30L dsuruAL AR 56 6 9
(A) 2 (Al @ aarl. (B) @il el @ clul.
(C) il [Rel as aal. (D) Al [Hel + Q.

(AR AL, SIE 206 dRg Bl WAL S DAL UR GIR HsAHL dHay SIS Blod 07 sl 2
Al2lArHiell sl RagAAl GualldL A & ¢

(A)  eufaRiH Rug-l (B) 2telldRiH Rugr-l
(C) R[ARIH RugL (D) A4l Rigri-l
‘oo A AL s B USRS ¢

(A) =tstel (B) uzul

(C) [Hé=uel (D) sHdL

O QUO€L, CEAHEL S L5l HLSell SIH Scll AUUA Y 58 6
(A) 3901 AR 2 (B) Gotural 2
(C) AR 2 (D) Bl v

-~

AR 20E ARAMIRL 52U USIRAL S ¢
(A) dgdid B) &l
(C)  ded (D) isuaL-le
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A=Al ¢ Rietel wgla Qe sl e 9

(A) VA (B) oyl

(C) -uedlsrul (D) Mlovse
[enalAlAl seuAlad [Asuiadl Hi2 56 WA HEEIY 61 & ¢
(A) dldisdA (B) U
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(C) =gl diA iRl (D) MRIEARAL USUAL HE2AL
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SECTION-1V / @Ug -1V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social

Studies as selected in the Online Application Form and answer all the 60 questions.
30 QU 1 § IU@vg 31id 1V (a) T e fagm v IV(b) amiisie 18 & | gFi 3T@veEl &
T | 60 Sgiaehedia e # |
gdraeff i IV (a) TG qer fomm 31t IV(b) amiises 75—, fSaet ==m Stietg stegT - d
P 2, & @ forell weh Sumvg 1 g1 B @ @t 60 I HI SRR |
SECTION-IV(a) / @Y — IV(a)
MATHEMATICS AND SCIENCE / 7T{oTa a2 fasm

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

TS | B 60 I 7 | T sreafofai 3 ga forvar w1 < fopam 2 32 wef) wem e et €

91. The evaluation process is related to :

(A) Educational objectives (B) Evaluation method
(C) Learning experience (D) All of these
ook kot Taferd gt &

(A) Toreror Sewei @ (B) Hodish gfafr |
(C) g 3va & (D) =afi g

92. The purpose of diagnostic testing is :
(A) To guide learning methods.
(B) Classification of students according to difficulty level.
(C) Detecting lack of achievement in particular subject.

(D) All of these. Eﬁ
fremTeTes qhierur 1 3T B ¢ B

(A) SAIT Uil o e —Tesr & |

(B) hISTS T h MR T BTAT T TR0 AT |
(C) Torwa femiw o Iueifets i st ST It oI |
(D) Jaft |



93.

94,

9s.

96.

(66) PL-2

Which method follows the principle of a process of combining different statements or

parts to get something new ?

(A) Lecture method (B) Heuristic method

(C) Analytic method (D) Synthetic method

fopmr fafer & 5o 7o wa A o Tord fafer= et = wim < @ <1 wfshen & fagra &

T B & 7

(A) =arEH fefy (B) wifees fafy
(C) forwetwor farfe (D) Ezerm fafy
If(\/g)sx92=3x><3 3, then the value of x is : Eﬁ
(A) 4 (B) 5 By
©) 6 D) 7

e (\3)’ x 92 =37 x 33 A, AxFT AR R

(A) 4 (B)

€ o6 D) 7

1 1
If (x - —) = 8, then the value of (xz + _Zj is :
X x

(A) 64 (B) 68
(C) 66 (D) 4354
Eﬁ?(x—azsﬁ,?ﬁ(xhawméz

(A) o4 (B) 68
(C) 66 (D) 4354

The factor of {x* — (x — y)*} is :

(A) y(x—y) (2x* —2xy +y?) (B) y(x+y) (2x*+2xy+y?)
(C) x(2x—y) (2x* —2xy—y?) (D) x(2x+y) (2x* + 2xy +y?)
et = (x — y)¥} I ETS E :

(A) y2x-y) (2x* - 2xy +y?) (B) y(2x+y) (2¥* +2xy+y?)

) x(2x-vy) (2x2 —2xy — yz) (D) x2x+y) (2x2 + 2xy + y2)
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The sum of two numbers is 22 and the sum of their squares is 404, then the product of
those numbers is :

(A) 44 (B) 80
(C) 36 (D) 40
Tl AT 1 AN 22 BN 3R 3 a1 1 AN 404 B, T 37 T I G & :
(A) 44 (B) 80
(C) 36 (D) 40

The sum of the digits of the minimum number by which 1800 is multiplied to get a perfect
cube number is :

A) 2 B) 6

© 5 (D) 4

g = 91 fe8 1800 1 0N i 9L Teh quf T HE&IT I &, o 37ehi 1 AT &

(A) 2 B) 6 m:
© 5 (D) 4 Eﬁ

1 1
If a sum of money becomes 20 of itself in 3 yearata particular rate of simple interest, then

the annual rate of interest is :

(A) 5% B) 7.5%
(C) 10% (D) 2%
1 ! 41
ETH] mmwwa%@ﬁﬁﬂamzaﬁﬁ mﬁa»‘ré‘—o‘aﬁw%, a1 ST bl aTfyeh L R
(A) 5% (B) 7.5%
(C) 10% (D) 2%
In how many year(s) will ¥ 2,000 become < 2,420 at 10% per annum compound interest ?
(A) 2 years (B) 1 year
(C) 3 years (D) 2% years .
10% aTfies =Ishgfg = W % 2,000 Fohae a9 # 2,420 & STaA 2
(A) 299 (B) 199
(C) 39§ (D) 2%a

If the selling price of 7 articles is equal to the cost price of 6 articles, then what is the
percentage loss ?

(A) 7%% (B) 14%%

©) 13%% (D) None of these

If¢ 7 I3 1 Torshd oo, 6 TG <h 33 oo oh SUSR @I, Al foha STerd &1 gt 2
(A) 7%% (B) 14%%

(©) 13%% (D) T & HIE &
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102.

103.

104.

10S.
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A bag contains ¥ 20, ¥ 10, ¥ 5 notes in the ratio 3 : 4 : 5. If the bag contains T 1,000 in
total, then the number of ¥ 5 notes is :

(A) 32 (B) 25
(C) 24 (D) 40

Th IAHT 20,310,353 :4: 5% JAHE | I I H HoT 99 3 1,000 8, @ T 5
% IS hl TR :

(A) 32 (B) 25 Eﬁ

(C) 24 (D) 40 B

If the sum of the numerator and denominator of a fraction is 55 and the value of the

.. 3 .
fraction is g, then the fraction is :

85
20 10
(A) 35 ®) 15
5
©) 30 (D) None of these

e el e 35 381 S g o 3 55 2 on o T 3 2, 4 ot 2

20 10
A) 35 ®) 15
5 . .
© = (D) % & B
If a transversal intersects two parallel lines, then each pair of corresponding angles is :
(A) Half (B) Double
(C) Equal (D) None of these
Jfe weh forieh 1@ < TaR {13t i Ufdeedig i, a1 G IVl 1 Jceh I BT & :
(A) e (B) <
(C) SR (D) 399 | IS T
The longest side in a right-angled triangle is called :
(A) Hypotenuse (B) Perpendicular
(C) Base (D) All of these
TSIV ST H TEH &t ol HEaTd & :
(A) ol (B)

(C) 3R (D) 3 meft
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106. If in the given figure PS||QR, then the value of ZQPS is:

Q ' R
(A) 36° (B) 90°
(©) 54° (D) 100°

Ifg fed T e W PS||QR &1, @ LZQPSHIAFE :

=5

Q ' R
(A) 36° (B) 90°
(©) 54° (D) 100°

107. The sum of all the interior angles of a pentagon is :

(A) 360° (B) 500°
(C) 450° (D) 540°
(A) 360° (B) 500°
(C) 450° (D) 540°

108. The radius of a circle is 6 cm and P is any point which is 10 cm away from the centre. The
length of the tangent drawn from P to the circle will be

(A) 6cm (B) 12cm

(C) 8cm (D) 10cm

Teh I %1 o1 6 Tt 2 AT Phig frg @ S ohg | 10 Tt QT R | P & o W @il 718 TR
i TS et

(A) 6o (B) 129

(C) guHt (D) 10 @t
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In a right-angled triangle, if its sides are 15 cm and 8 cm perpendicular to each other, then
its perimeter will be
(A) 40cm (B) 38cm
(C) 46cm (D) 50 cm
T FHHI TS H, AfG 3Eeh! ST 15 HEHIK 3R 8 HEHIC Teh G o eI &l, Al Sl
9T B

(A) 40Tt (B) 38aHt

(C) 464t (D) 50 |t

The arithmetic mean of 1, 2, 3, 4, .... n numbers will be : E%
n n+1 '

(A) 5+1 B)

o 5 p =

©) 7 (D)

1,2, 3,4, ....n GEATST T GHT=L 41T I :

=]
+
—

A) 5+1 (B)

[\

=]
|
—

© 3 (D)

[\

The difference between the upper limit and the lower limit of a class is called :

(A) Frequency (B) Mode

(C) Class size (D) None of these
Tepeft ot <At St =i e o Efmn o1 3= heerar |

(A) ST (B) dwgceh

(C) ot (D) 3TH H s &

The co-ordinates of the origin are :

A (1, 1) B) (1,0
© L-D (D) (0,0)
A (1, 1) B) (1,0

© 1L-D (D) (0,0
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If a dice is thrown once, then the probability of getting a number greater than 6 is :
1
(A) 0 B ¢
2
© 1 D) %
Ife Teh ITET Ush SR IDTAT AT &, ol 6 T ST T&AT 37 <hY TRBT 2
1
A) 0 B ¢
2
© 1 D) %

Which of the following statements is not related to the nature of Mathematics ?
(A) Mathematics is study of numbers, places, measurements, etc.

(B) Mathematics has its own language terms, concepts, formulas, etc.

(C) The knowledge of Mathematics is not logical.

(D) The knowledge of Mathematics is the same in the whole world.

Tt 3 S @1 She T <l Yepfd & Heiferd TR R 7

(A) TIOTa T T3, T, HTOHT 3 bt 1ee feran S B |

(B) 7O 6T Sl ST g, S, T TG &1 | -
(C) TITOTa o1 T aTfeher & BT & | Eﬁ
(D) TTIOTA =T T EHET ST7Td § HHH €9 T 212 |

“Mathematics is the language in which God has written the Universe.” This statement is
told by

(A) Galileo (B) Locke

(C) Bertrand Russell (D) Lindsay

“TTfoT =g T & T qReeR = wegul STa A1 srEnve i for T @ 17 98 U fohe et ¢
(A) Ticfiferr (B) o

(C) FTE (D) fomed

According to Napoleon — “The progress and the improvement of Mathematics are linked
to prosperity of the state.”

This statement corresponds to which value of Mathematics ?

(A) Disciplinary value (B) Social value

(C) Aesthetic value (D) International value

i o AR — “TIfTa <t I=fa qe ghg ¢ i T & FEfd 7 |7 98 HeH T %
fra g awat@e ?

(A) ITIMEATH oI (B) @I qed

(C) HicaicH Hea (D) g e
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118.

119.

120.
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The author of the book “GANITA SAR SANGRAH’ is :
(A) Aryabhatta (B) Shri Dharacharya
(C) Pythagoras (D) Mahaveeracharya
T |R HE’ ATH J&dh o oiEoh &
(A) omvg (B) ot erred
(C) UTSYTTRE (D) WETR== E%

In which method by moving from ‘Particular to General’, we generate formulas in
Mathematics ?

(A) Deductive Method (B) Lecture Method

(C) Inductive Method (D) Project Method

fore fafer o “fafire & g’ <6t 3TR SITd 3T &0 Tfora  §31 hl WA Rd & 7
(A) T ferfy (B) = fafy

(C) AT fafy (D) 3ot farfer

The knowledge of which of the following is most helpful in painting ?

(A) Geometry (B) Statistics
(C) Arithmetic (D) Function
fraforfiga © & fopeert ST fareen 3 watfis v 8 7
(A) T@mfir (B) wifeashl
(C) 3T (D) o

Which of the following is not an evaluation method ?

(A) Interview (B) Preparation
(C) Questionnaire (D) Check-list
Frerferfian & & @ g T e st T 2 7

(A) WTEIThR (B) dard

(C) ST (D) -
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123.

124.

125.

126.

(73)

When was the Family Planning (Family Welfare) Programme started in India ?

(A) 1947 (B) 1951

(C) 1958 (D) 1960

IRd § fER e (afar searr) iy 6t 3e3Td e g8 off ?
(A) 1947 (B) 1951

(C) 1958 (D) 1960

Which of the following hormone supports pregnancy ?

(A) Insulin (B) Adrenaline

(C) Melatonin (D) Progesterone
frfeTRad o € I |1 g TEed1 § 98 © ?

(A)  FHfer (B) ufgref

(C) WA (D) TSI

Which of the following is not an example of Kharif crop ?

(A) Cotton (B) Soyabean

(C) Maize (D) Pea Eﬁ
freaferRad & M @1 i 6l BEet 1 3¢EW TR 8 7 B
(A) HIE (B) @A

(C) Haehl (D) "X

Which of the following is not a scientific teaching method ?

(A) Anecdote method (B) Evaluation method
(C) Psychophysical method (D) Questionnaire method
frferfaa & @ o =t weh Jamfes foreqor fafr i 2 2

(A) gt fafy (B) TR oty

(C) wIeiEe fafy (D) weATEe fafy

The main objective (aim) of evaluation is :

(A) Removal of students errors.

(B) Measurement of students achievement.

(C) Give promotion of students.

(D) Diagnosis and treatment of learning deficits.

ook 1 G&T Ie B :

(A) Toremfd=i <6t gfea fepremr |

(B) Taremfern shi 3uetfeds shi oo |

(C) Tremfern st =i g T |

(D) Hi@a i o} 1 e Td IT=R ST |

Which teaching aid is not included in the audio-visual equipment ?

(A) Movie (B) Television

(C) Laptop (D) Epidiascope

i i freqor-wgTere A, e -gve Syt § afthfora TE &
(A) === (B) SohfesH

(C) <iuer (D) fa-freame
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127.

128.

129.
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Correct decreasing order of friction forces is :

(A) rolling, static, sliding (B) rolling, sliding, static
(C) static, rolling, sliding (D) static, sliding, rolling
YT Sl 1 T Tedl HE B

(A) rete, wfaew, adf (B) et adf, wifas
(C) Tifaes, wAlefes, adf (D) Tifaes, gdf, eefes

An object is moving on a circle of radius R. When it completes half circle, then the

distance and displacement travelled by it will be :
(A) 7R, R (B) 2nR,R |
B
(C) mR,2R (D) 2mR,2R
T 5 R a1 % 90 W feme ] | 9 9 3tEgd @ ok 2, Al sk g ad R e gl @
forRmm ‘&ﬁTIT :
(A) mR,R (B) 2nR,R

(C) 7R, 2R (D) 2mR,2R

A wooden spoon is dipped in a cup of ice-cream. Its other end
(A) becomes cold by the process of radiation.

(B) becomes cold by the process of convection.

(C) becomes cold by the process of conduction.

(D) does not become cold.
TR T Teh T I ITSEFHIH oh TSl H AT T & | 38T gall a0
(A) Terferor <Y wfshan & shror 32t 2 e |

(B) e ohl UfshaT s HHUT 3T & S |

(C) =ITeT ohl 9k o Il 31 &l S |

(D) ST & &AMl |
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The value of x in the given diagram is :

Normal
Incident Reflected
ray ray
30°
Plane Mirror
(A) 15° (B) 30°
(C) 90° (D) 60°
T2 T T | x o1 WH BT
sifirers
smaf wrafta Eﬁ
fopor fepor B
30°| y
THA gl

(A) 15° (B) 30°
(C) 90° (D) 60°
The frequency of a sound source is 50 Hz. In 2 s number of vibrations will be :
(A) 25 (B) 50
(©) 100 (D) 200
fopeft &afy |1 <l 3T 50 Hz 8 | 39 2 s H e[ oh1 §&AT 211
(A) 25 (B) 50
(C) 100 (D) 200
LED emits Light :
(A) Only green colour (B) Only red colour
(C) Only yellow colour (D) All of these
LED ShTST 3cHofd hidl &
(A) HIA BT (B) ol ATA T
(C) haa et T (D) A mft
Which of the following is not a member of the solar system ?
(A) An asteroid (B) Meteors
(C) A satellite (D) A comet
fr=ferfad o & @R ufer w1 ae= T8 ? 7
(A) ¥cie (B) 3ehi¢

(C) ImE (D) YHg



D (76) PL-2

134. Laboratory method is based on which principle ?

(A) Learning by seeing (B) Learning by doing
(C) Learning by rote (D) All of these
smTaTTer fafyr fore fagra w snenfa @ 2
(A) TR HEH (B) heh Eia
(C) Tt HiET (D) Ot
135. Synthetic fibre among the following is :
(A) Nylon (B) Cotton
(€) Wool (D) Silk
frafafiga 9 9 aecifva W g
(A) FTEedH (B) U -
(©€) A (D) WH Eﬁ
136. The symbol of potassium element is :
(A) P (B) Po
©) Pt (D) K
are e e 1 Ui §
(A) P (B) Po
©) Pt (D) K
137. Chemical formula of aluminium nitrate is :
(A) AINO;, (B) AI(NOy),
(C) AL(NO,), (D) AL(NOjy),
U ATgee S THRIT O |
(A) AINO, (B) AI(NOy),
(C) AL(NOy), (D) AL(NO,),

138. Which of the following mixture can be separated by the winnowing method ?
(A) Mixture of grain and husk
(B) Mixture of grain and pebbles
(C) Mixture of wet sand and pebbles
(D) Mixture of sand and water

fraferfaa o & 1 @ frsror frsaram faftr gro geres fopen S oepar 2 2
(A) ST=ToRUT QT 38 1 T (B) 3T~TehUT QT hehg I WU
(C) et Tt qen sehe o1 frsm (D) gt qen urh =61 fsror

139. Synthetic indicator among the following is :

(A) Litmus (B) Turmeric

(C) China rose petals (D) Phenolphthalein
Freforfia 3 & v g 2 -

(A) oo (B) &

(C) TS8d hi ugfeat (D) $FTeredfem
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77
The pair of green-house gases is :
(A) 0O, CO, (B) CO,,N,O
(C) N,,CH, (D) 0,,H,0
FEGRIERIE R
(A) 0O,, CO, (B) CO,,N,O
(C) N,,CH, (D) 0O,,H,0
Audio-visual teaching aid among the following is :
(A) Radio (B) Chart
(C) Television (D) Blackboard
frefafaa & @ yer-goa e aem &
(A) e (B) =
(C) e (D) wamIE
Which bacteria is found in roots of leguminous plants as symbionts ?
(A) Rhizobium (B) Bacillus
(C) E.coli (D) Achromobacter
SAfTE e <l TS | i T e FEsiiet & &9 H IE1 JI g ?
(A) TESHfeRm (B) e
(C) . ITs (D) ThHISFT

=5

Which edible part is modification of stem ?

(A) Turnip (B) Carrot

(C) Sweet Potato (D) Potato

= 0 9 6 | WISy vered T 1 SR 7

(A) IMeTsH (B) ST

(C) IhTh< (D) 3]

Which of the following is a simple tissue ?

(A) Xylem (B) Phloem

(C) Sclerenchyma (D) None of these
1 9 v W Sk |

(A) e (B) ICH

(C)  TheRAHIEAT (D) & § lg 7l
Which of the following is not an air pollutant ?

(A) Carbon mono-oxide (B) Nitrogen oxide
(C) Methane (D) Oxygen

et 2 2 1 T g T 2 7

(A) IS THI-3TFTES (B) TSIISH ATHTSS

(C) ©d (D) 3FaEfem
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Sacred groves are found in

(A) Khasi and Jaintia hills of Meghalaya
(B) Aravalli hills of Rajasthan

(C) Western ghats of Maharashtra

(D) All of these

gfer 39eH 9T S &

(A) W™ 6l @ 9 SRR geTed §
(B) TSTEYM i WG gaid et o

(C) WENTY % ufgenft are o

(D) sHEd

Which bacterium causes pleurisy disease in human ?
(A) Mycobacterium tuberculosis

(B) Corynebacterium diphtheriae

(C) Mycobacterium leprae

(D) Neisseria gonorrhoeae

I B Sfam] @ e 8 el T grar R ?

(A) HTSHITFITEH TR Eﬁ
(B) ey fewdrtars '
(C) WShIFITER T

(D) e TafeEr

Which type of sebaceous glands present in human skin ?

(A) Apocrine (B) Merocrine

(C) Holocrine (D) Eccrine

TG = <l def1d TTo=T i & TR 61 et & 7

(A) UHISHTEA (B) skt

(C) Biellshred (D) Thrs

Disease caused by deficiency of Vitamin A is :

(A) Night-blindness (B) Beri-Beri

(C) Scurvy (D) Rickets
fefmTA)H s I T TR

(A) e B) -5

(©) el (D) frepem

In which phase of cell cycle, synthesis of histone protein occurs ?
(A) G,-Phase (B) S-Phase

(C) G,-Phase (D) M-Phase

SHITITRT sk ShT i E TTareT | e T 1 TYATv g1 8 ?
(A) G- (B) S-umaEq

(C) G,-STaEd (D) M-JTeeAT

PL-2
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SECTION-IV(b) / @UE — IV(b)
SOCIAL STUDIES / 9ok ST

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

@S | Fo 60 T & | T 1Rt 3 5o o w61 = forerm 8 38 weft wroat st tfamd 2

91. Approximate Extension of the shadow zone of S-wave is —

(A) 105°to 145° (B) 105°to 105°
(C) 145° to 145° (D) 90° to 90°
S—TT o BT &1 T FIER T & —
(A) 105°F 145° (B) 105°¥ 105°
(C) 145°F 145° (D) 90°F 90°
92. On which beach is Kayal located ?
(A) Malabar Coast (B) Konkan Coast
(C) Kathiawar Coast (D) Coromandel Coast
Fare fpd qe iR R 72
(A) TTAER qC (B) hishUT @<
(C) HifsaTEaTe @ (D) HHSHA dE
93. Batholiths, Lacoliths, Lapolith and Phacolith are related to Eﬁ
(A) Earthquake (B) Volcano B,
(C) River (D) Gravitational force
ST, eiepifary, Sdifey o Hehifery i~ & —
(A) YHEH (B) SaTeTgE! &
(C) &9 (D) TEATHYY &

94. Which statements about the “Faience” are true ?
() Faience mines have been found in Mehrgarh.
(IT) Faience were found naturally.
(IIT) A gum was used to shape sand or powdered quartz into an object.
(IV) The objects were then glazed, resulting in a shiny, glassy surface.
(V) Faience was used to make beads, bangles, earring and tiny vessels.
(A) LII, 11 (B) ILIL IV
(C) 1LIV,V (D) IV, V,I
T hIRHA DA A RHA P ARG ?
() A6 TgH TEuTg | fireft & |
(II) S JTehfeieh TR T 9T SITd < |
(II) ST AT Th{eeh TeeR h FUI ol TTig H AT 398 TEY oTS it of |
(IV) 39 §T¢ 37 T3 W T bl T =ers et off |
(V) I8 & Tk, I, greh 3 B §d- ST I o |
(A) LII, 11 (B) ILIL IV
(©) 1L,1v,Vv (D) 1V, V,I
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Which statements are true about Rigvedic period ?

(I)  Soma was a plant.

(I) Brahma, Vishnu and Mahesh were the main deities.
(IIT) Called Sukta or “Well Said”.

(IV) Upanishad and Aryanak texts were composed.

(V) Indra was not the god of warrior.

(A) L1 (B) 1L IV
(C) IV,V D) LV
SRTdfeeh T h fug H B A FAT TA B ?

() ©H T e |

(I1) e, foso) 3 wes yq@ <aar ¥ |

(III) FF T HAS, ITTS! TG | AT T 4T |

(IV) 39(9E o 3TR0Ih T & ™ 9 |

(V) %595 1 @ <ol Tg1 o1 |

(A) LI (B) IL1IV

© 1,V D) LV

Which Buddhist text contains a dialogue between, a king named Avantiputra and a
disciple of the Buddha named Kachchana ?

(A) Deegh Nikaya (B) Khuddak Nikaya

(C) Majjhima Nikaya (D) Anguttar Nikaya

TS T ST 3T g o ITTARN head o &9 TG hH g IA AR ?

(A) < frehr (B) G s Eﬁ
(C) wicem e (D) IR '

Which Buddhist text contained a set of rules and regulations for those who joined the
sangha or monastic order ?

(A) Vinaya Pitaka (B) Sutta Pitaka

(C) Abhidhamma Pitaka (D) Jataka

S U dig UY T sfig T9 I1 31 § T a1el AR o foru forermi 61 wwrg o
(A) Toa fiesh (B) Ha Ty

(C) 3hrem fues (D) Siideh

Which is included in the six school (Shaddarshan) of Indian Philosophy ?
(A) Satyaarth Prakash (B) Vaishesika

(C) Mahabharata (D) Upanishad
Il &3 bt ©: T (Tgee) | i wfier 7 7

(A) @ ST (B) adftp

(C) wERa (D) 3ufreg

Who came to India during the Mauryan period as the ambassador of the Greek ruler of
West Asia named Seleucus Nicator ?

(A) Fahien (B) Xuan Zang

(C) Itsing (D) Magasthenes

afvem TR o AT AT Sy ehet o TSgd o &9 H HRIehTel § WRA i 37T ¢
(A) R (B) oA @M

(C) sfeam (D) e
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State the complete true statements about Arikamedu.

(I)  Ttis located in Puducherry.

(IT) Arikamedu was a Coastal settlement.

(ITII)  Other finds include pottery such as amphorae.

(IV) Items related to the Greek Empire have been found here.
(V) The kings here were Chera Dynasty at that time.

(A) LILII (B) 1L IV,V
(C) 1V, V,1 (D) V,1V,1
JTfRTg < T # qof I oM Famsv |

() I8 qgedt | fera o |

(1) ARG HEEYUl I T |

(1) =81 THRT S8 ue et |
(IV) T&T T I T & Haiferd sy fireft £ |
(V) F&i s Tsn=nasiy |

(A) LI I (B) NILIV,V

) 1V, V,I (D) V,IV,I

The Chinese Pilgrim ‘Xuan Zang’ lived in the court of which King ?

(A) Chandragupta (B) Samudragupta

(C) Harsha (D) Kanishka

it A ‘v @ fRE TS R @R AR 9 ?

(A) =T (B) HHFI= =
©) & (D) HiTsh |

In which play we find an interesting description of the plight of a poor fisherman in Gupta
period ?

(A) Harshcharit (B) Abhigyan Shakuntalam
(C) Mudrarakshasa (D) Mrichhakatikam

S T A1 T TH It § Teh RIS HGITR o T TAHHATET oh GATER hl ST Hal g5 8 7
(A) THafE (B) AT ST,
(O (D) FesHieFH

Where is the temple of “Bhitargaon” situated ?

(A) Uttar Pradesh (B) Bihar

(C) Orissa (D) Bengal

“fraoria” o1 Af el iR g ¢

(A) ST (B) feen

(€) I (D) =T

By what name are the teachings of Shankardeva who was the main propagator of
Vaishnavism, addressed in the late fifteenth century ?

(A) Vallabh Dharma (B) Krishna Dharma

(C) Guru Sandesh (D) Bhagavati Dharma

UgEdl STt o TG H Iehicd, S oISd 91 o & Y9 ¥, o Ul ! fhy A &
Heitfere fearm wman & 2

(A) Ty &d (B) e o

(C) TEHE (D) wreredt e
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What was Khud-kashta and Pahi-kashta in Mughal period ?

(A) Types of Revenue (B) Types of Crops
(C) Types of Administration (D) Types of Farmers
HITeTehTel H GEeh1ed d UTfgehied ol I ?

(A) TSRS % TR (B) ®HAI % TR

(C) IIMEA & Y (D) Toram™l & TR

What was the relation of “Manzil-abadi”, “Sipah-abadi” and “Mulk-abadi” during the
Mughal period ?

(A) Part of Book (B) Portion of the Population
(C) Part of Revenue (D) Part of Administration
TR § T -3TeTe)”, “Taug-3Tmerdl” g “Hosh-3TaTe)” 1 gy fohed o 7
(A) &I o T (B) SIEEAT % WM

(C) TSTE o YT (D) ST % W

Who got the book published under the name “Stripurushtulna” ?

(A) Tarabai Shinde (B) Pandita Ramabai

(C) Jyotirao Phule (D) Rashsundari Devi
FETdeT A ¥ fehare fohem yeRTfyra sHars ?

(A) arrETs fire (B) ufgar weTs Eﬁ
(C) e gt (D) Tl

When was the parallel government (Prati Sarkar) established in Satara, Maharashtra ?
(A) 1941 (B) 1943

(C) 1945 (D) 1947

TERISE o AT H GHFTA TR (Sfe TR shl TAToHT e <hi 715 7

(A) 1941 (B) 1943

(C) 1945 (D) 1947

Which word is not given in Preamble of the Constitution of India ?

(A) Belief (B) Faith

(C) Worship (D) Language

A o | <l Seferent H i a1 wieg e feamman & 2

(A) Taeem (B) &d

(C) 3™t (D) 9wt

When was Street Vendors (Protection of Livelihood and Regulation of Street Vending)
Act came in force in India ?

(A) 2010 (B) 2011
(C) 2013 (D) 2014
A W 9 forskar (Shifereht wxegor 3R 9 fosra fafremm) srfafem e e gen ?
(A) 2010 (B) 2011

(C©) 2013 (D) 2014
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111. “The Idea of Residual Powers” provision in India is adopted from which Country’s constitution ?

(A) British Constitution (B) United States Constitution
(C) French Constitution (D) Canadian Constitution
“3rafirse wifert 1 frgia’ 1 yraem wia § fohe <o o dfgam | fern e g 2
A) fafes gfagm (B) 3R & wfga™
(C) %™ & \fgeH (D) TSI & AU
112. In India after the death of President Fakhruddin Ali Ahmed who acted as President of India ?
(A) B.D.Jatti (B) V.V.Giri
(C) Zail Singh (D) N.S. Reddy
W H Tl BEEEN 3Tefl 3THe i 4oy % d1g hreiargsh Ungufd o &9 § fehe s feam 7
(A) 2L S (B) . fird
(C) g (D) TH.UE. &
113. Which two states have same number of Lok Sabha Constituencies ?
(A) Uttarakhand, Jharkhand (B) Kerala, Karnataka
(C) Andhra Pradesh, Rajasthan (D) Punjab, Odisha
fop 1 T <t ArepE T et - g f s TmE 7 7
(A) ITEE, IES (B) oA, HACH
(C) 3ATY T, TS (D) uSTE, s
114. Toll free Helpline Number for Children who are in need of care and protection is —
(A) 1095 (B) 1096
(©) 1097 (D) 1098 Eﬁ
AT ! Gfawm Td ueg o e f:3[ch godatrs T g — B
(A) 1095 (B) 1096
(C) 1097 (D) 1098

115. In India which Constitutional Amendment determined the size of the Council of
Ministers ?

(A) 8l (B) 91
(C) 101 (D) 102
TRd | fopm afeem gened gy afEdie 1 AR fuffa e w2
(A) 8l (B) 91
(C) 101 (D) 102

116. In 1989 which Committee recommended Constitutional recognition for the local
government bodies ?

(A) P.K. Thungan Committee (B) B.R. Mehta Committee
(C) Ashok Mehta Committee (D) Sadik Ali Committee
1989 T fope @firfer 1 werrfar s o FehTtt st TaeTfes g1 Se ot <h foriver i ?
(A) W%, g wfafa (B) .31, Wgan AfHfd
(C) 37211k Hgan dfifd (D) wicen 3tett wffa
117. ‘Abolition of titles’ is a part of which Fundamental Right ?
(A) Right to Equality (B) Right to Freedom
(C) Right Against Exploitation (D) Cultural and Educational Rights
IuTfert w1 3q’ for wifeteh TR o few &
(A) TUAT T JRHR (B) Tl ST SATIHR

(C) YT & foreg At (D) TTEhieh 31T Sferh e
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Identify the correct group of Scheduled languages in the Eighth Schedule of the

Constitution of India.

(A) Bengali, English, Sanskrit (B) English, Hindi, Sanskrit

(C) Santhali, Hindi, Sanskrit (D) Gujarati, Marathi, English
T o | <l SATee e | ST Wist % T€l Tgg Sl IgaH |
(A) ST, ST, Teha (B) 31h, f&dt, o%ha

(C) wTetl, f&dt, g&hd (D) TSI, TS, TS

The circle that divides the day from night on the globe is called —

(A) Circle of illumination (B) Equatorial circle

(C) Elliptical Orbit (D) Summer Solstice

TAE W IE I S e T Td i Taw1iTd ohid 7, shgardl & —

(A) Ffed g (B) HEREM I

(C) iR ¥ (D) I A

Katabatic winds blows from —

(A) From Valley to Mountain (B) From Mountain to Valley
(C) From Seato Land (D) From Land to Sea

FFUE! ge erTfed il & - Eﬁ
(A) =T ¥ gad i T (B) udd & =1l shi & B
(C) HYZ o T hil TWh (D) T ¥ Ig hl Wh

Which one is not a limitation of assessment ?

(A) Lack of time

(B) More importance to the competition

(C) Conceptual error

(D) Freedom from fear and stressful environment

3TH I H Teh HTehetd hl DT TS & 7
(A) =TI 6 St (B) fceast =i 31fers Te
(C) HehoqATHTs qfe (D) ¥ TG HTEqUl 9iEs & g

Which one is not prerequisite of lesson planning ?
(A) Knowledge of subject

(B) Knowledge of learner family background
(C) Knowledge of child psychology

(D) Knowledge of methods and techniques

1 T Teh U1S Ao ohi GaTier T B ?

A) T IE (B) 3fepmeRal & aTianfies guyfd o1 =
(C) T TS &l T (D) Tafer (freror) war dqepeiehl &1 99
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Which one of the following is correctly matched ?
(A) Socrates — Instruction method

(B) Plato — Questioning method

(C) Herbert Spencer — Dialectic method

(D) Aristotle — Deductive and Inductive method

1 5 & i o v T gRfera 8 7
(A) gHud — freem fafy

(B) Il — YRR fafy

(C) & TR — Hare fafy

(D) 3R] — 3T 3R e fafy

Which one is not a general objective of teaching of social studies ?
(A) Acquaintance with the environment

(B) Interest in socio-economic institutions

(C) Appreciation of cultural heritage

(D) Appreciation of caste system

SHIF HT Teh HTHITSR TSR 18707 1 GTH 389 81 & ?

(A) TFTERET B g g (B) HETHTSTeh—3TTfeh EETT | &
(C) Hrhiceh forred shi wraT (D) STfa-g2T =t IrEn

How many steps are suggested for solving a problem ? E%
A) 2 (B) 3 '
<€ 3 D) 7

THET 3 THTE % fo1¢ foha= =0T o1 gema feam mn g

A) 2 (B) 3

(O D) 7

From which layer of the atmosphere do radio waves come back ?

(A) Stratosphere (B) Mesosphere

(C) TIonosphere (D) Exosphere

et ql arquee i fopd T & 99| S § 7

(A) THATY A (B) W HedA

(C) 3T HsaA (D) ™I HEA

Which of the following cyclone is called water spouts in sea ?

(A) Typhoons (B) Hurricanes
(C) Willy-Willies (D) Tornado
o1 o @ foper IshaTd 1 THg W ST W9 HEd & 7

(A) TEERA EGEE

(C) Toeft-foefs (D) TN
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128. Which of the following currents are cold currents ?

129.

130.

1.
3.

(A)
(©)

Labrador current
Benguela current
1,2,4
2,3,4

(B)
(D)

fafeRaa st @ 9 wF @ 3 ard @ ¢

1.
3.
(A)
©)

TSR 9
ST g
1,2,4
2,3, 4

(B)
(D)

During the time of perigee the tidal range is —

(A)
©)

399 o THY SR Y BIAT & —

(A)
©)

Equal to normal
Greater than normal

T o ST
= g 31fees

(B)
(D)

(B)
(D)

Match the following forests and trees :

(1
)
3)
4

(A)
(B)
©
(D)

Forest
Tropical Evergreen
Tropical Deciduous
Montane
Mangrove

0y
(d)
(©)
(©)
(a)

)
(©)
(d)
(d)
(b)

©))
(2)
(b)
(@)
(©)

“
(b)
(a)
(b)
(d)

(a)
(b)
(c)
(d)

Tree
Spruce
Palm
Mahogany
Sal

Freiferfiaa o1 vs g8 1 ghfera IR

(D
)
3)
4

(A)
(B)
©)
(D)

IWThICE T TeTagR

a9

IWThiea-f quiITdl

EEGip
LDIES
)
(d)
(©)
(©)
(a)

)
(©)
(d)
(d)
(b)

(&)
(a)
(b)
(a)
(©)

“)
(b)
(a)
(b)
(d)

(a)
(b)
(©)
(d)

98
S
S
TE

RN

2. Oyashio current
4 Alaska current
1,2,3
1,3,4

AATE 9T
JATERT 9T

— = AN

2,3
.3, 4

Less than normal
None of these
Y= ¥ Y

ST 9 i3 T8

5
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Which of the following is a group of Iron ore belts in India ?

(A) Singbhum (Jharkhand), Bailadila (Chhattisgarh), Nellore (Andhra Pradesh)
(B) Kudremukh (Karnataka), Mayurbhanj (Odisha), Bokaro (Jharkhand)

(C) Bokaro (Jharkhand), Bailadila (Chhattisgarh), Mayurbhanj (Odisha)

(D) Mayurbhanj (Odisha), Singbhum (Jharkhand), Bailadila (Chhattisgarh)
frferfaa § @ o |1 Yra | g 315w Uiedi h1 Tqg ? ?

(A) foem (srEs), serfet (Stee), Feiit (3 Few)

(B) FoUE (FA1eeh), TN (STeeM), TRhRT (INEE)

(C) WIhR (FRTE), SANSAT (STAETE) , TS (3ifem)

(D) TR (pifeam), ferevm (smrs), safsen (swies)

In which direction the Aravalli range extends in Rajasthan ?

(A) South-East to North-West (B) North-West to South-East
(C) South-West to North-East (D) North-East to South-West
TR § Sraet geaaTer fohe foum & foega @ 2

(A) Tur-ud & SR-ufeem (B) IW-ufvam & gftqor-qd
(C) cfaur-ufyem @ IR-d (D) IW-Yd ¥ efequr-ufeem

Match the following district and climatic regions : m:
District Climate region Eﬁ
(1) Jaisalmer (a) Extreme humid
(2) Jaipur (b) Humid
(3) Sawai Madhopur (¢) Semi-Humid
(4) Jhalawar (d) Dry
» 2 & @
A) (© (b (@ (@
B @ © @ (@O
© @ ® © (@
D) @ ) (@b (a
freferfiaa et wa sty wewn w1 gafera Hifvw -

ISKI ERCICR
(1) SEer (a) fa-amd
2) AR (b) g
(3) HETE WHR (c) 39-31T5
(4) STTETS d) I

Hm @ & @
A) © (b)) (@ (@
B) @ © @ O
© @ b © (@
@ @ © @b (@
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134. Which of the following are correct statements with reference to district and projects ?
(1)  Chittorgarh — Rana Pratap Sagar Dam
(2) Ajmer — Bisalpur Project
(3) Udaipur — Mansi Vakal Project
(4) Pratapgarh — Jakham Project
A) (1),03),4) B) 1),(2),03)
© (2.0).® , D) (1,2, )
et @ ufEs T % ged § AfRfed S a M A hua gl 8 7
(1) Teitee — Tom Jam9 9mR |ty
(2)  ITSER — SHAYT TSI
(3) ICAY — AHE FTehet TS
(4)  IATHTG — ST YRS
A) (1),(3),4) B) 1),2),3)
© 2,03),% D) (1),(2),4)
135. In which Crops Rajasthan is the top producer in India ?
(A) Mustard, Chickpea, Dewgram
(B) Psyllium husk, Cumin, Cluster bean
(C) Chickpea, Green gram, Black gram
(D) Green gram, Maize, Pearl Millet

fopet El o IeTer H USRI i WA H J4H TIH @ ? Eﬁ
(A) GEI, =4, 115 (B) SHemid, T, saw EW
(C) =, T, 333 (D) T, HHT, ST
136. During 2001-2011 Population growth rate of Ganganagar district is —
(A) 10.0% (B) 16.9%
©) 325% (D) 21.3%
2001 § 2011 3TaT % GRHA TR et <l SHEe Jfg g 8 —
(A) 10.0% (B) 16.9%
(C) 325% (D) 213%
137. Which ruler of Mewar was given the name of “Vishamghati Panchanan’ ?
(A) Rana Hamir (B) Rana Lakha
(C) Rana Kumbha (D) Rana Udai Singh
“ferymendt g <l G TS o Tohd Ees ol < 1 oft ¢
(A) TOT BHR (B) 0T ATl
(C) Tom (D) TN IcATHE
138. Who was the Maharana of Udaipur at the time of revolt of 1857 ?
(A) Jaswant Singh (B) Swaroop Singh
(C) Udai Singh (D) Ratan Singh
1857 <t shifdl o TTF IGAYX o TGNV i & 7
(A) SHadss (B) WEUHg

(C) 3cafE (D) TafbE
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141.

142.

143.

144.
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Where was the third session of “Rajputana Madhya Bharat Sabha” held ?
(A) Nagpur (B) Jaipur
(C) Ajmer (D) Delhi
“TSYAT AL T FHT” 3T T ST hal T g ?
(A) AFTIX (B) SEIX
(C) 3R (D) feeet
Who was made the Prime Minister of Greater Rajasthan ?
(A) Haribhau Upadhyay (B) Gokulbhai Bhatt
(C) Hiralal Shastri (D) Tikaram Paliwal
“TEd TSTEAT” o1 T Tohsl ST 70T T ?
(A) S ST (B) TGHeIvTs Wg
(C) ENIeATe el ) ICEEERISICIS]
Who is known as “Banasur ka Shaheed” ?
(A) Kesari Singh Barahath (B) Major Saitan Singh
(C) Pratap Singh Barahath (D) Havildar Major Piru Singh
“STUTTEX <1 STEIE” AT | ShiF |1 @ Sfdd =1 a1 & ?
(A) HEE 9NES (B) HR IdTfE
(C) YdTITHE INES (D) &IIER TSR Hi&fig m
[ 3
Who built Churu Fort in 1739 ? B
(A) Jaswant Singh (B) Rai Singh
(C) Kalyanmal (D) Thakur Kushal Singh
T8 g1l 1 FHI0 1739 T TR HEm ?
(A) SHIAHE (B) TR
(C) HAIHA (D) 3R FA 88
Tulsi, Haalro, Timaniyan and pot ornaments are worn by women in which part of their
body ?
(A) Head (B) Neck
(C) Hand (D) Waist
Toret, gTer, fomforat qem ara Fres smeqyor afgensti grT IR o S | W W ugd A1 7
(A) R (B) T
(C) 3 (D)
Which Film has been made on the book “Duvidha” by Vijaydan Detha ?
(A) Mumal, Phulwari (B) Alekhu Hitler
(C) Duvidha, Paheli (D) Uljhan, Suljhan
forstrer o i geas “gfaen” Wi i fvew w1 fmfor g g 8
(A) T, Beart (B) 3oy feeem

(C) gfawr, gaelt (D) 3VTEH, oIgH
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150.

(90) PL-2
“Hela Khyal” is a folk theatre from which region of Rajasthan ?

(A) Dausa (B) Bikaner

(C) Sikar (D) Barmer

“ZAT T ATHeh lieh 1 TSTEAT o i & & | Taferd 8 7

(A) g (B) R

(C) (D) ST

What is Patelya, Bichhiyo, Lalar, and Machar ?

(A) Famous songs of Mewar (B) Famous songs of Marwar
(C) Famous songs of Mewat ‘ (D) Famous songs of Hadoti
g, ifesa, AR o AR TS ?

(A) HaTE % Ufeg A (B) WNATE  Wi¥g fa

(C) Tara % yfirg ia (D) ekt % ufdrg

“Social Science as a general term for all the sciences which are concerned with the human
affairs.” This is defined by

(A) Seligman (B) Mitchell

(C) Fairchild (D) Peter Lewis

“graTfareh fosm 37 At fosi % foT uss wmar=r wreg < &9 S W wHel | €@ fid § |17

g afesiia femam e 2

!ﬂ
(A) HTA ZRT B) frdet g =
(C) HIETEES gRI (D) it dfm g
Which of the following is an Audio — Aids ?
(A) Linguaphone (B) Over Head Projector (OHP)
(C) Epidiascope (D) Bulletin Board
fadasR s amf g ¢
(A) femammE (B) SIS Mt
(C) To= fowame == (D) oAt aE
Which one is not a type of project method given by Killpatrick ?
(A) Constructive Project (B) Destructive Project
(C) Problematic Project (D) Practice Project
390 W I 1 Ueh fohetafes g fearm e aiisn 1 TR T § 7
(A) TIATCH RIS (B) Taedes afesm
(C) EHEITCHS JIEISHT (D) 31T YIS
Who propounded the linear programmed instruction ?
(A) Norman A. Crowder (B) B.F. Skinner
(C) Thorndike (D) Thomas F. Gilbert
&R ARG STHCIH T fared fehem foham ?
(A) T T, TR (B) #.u%. @I

(C) UMeEH (D) oY U%. fiesd
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INSTRUCTIONS / faéat
(Read carefully and comply / &9 & U 3R qTa we)
IMPORTANT / Agwqut

. In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the

. In Section III (Language-II) a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the

. The candidate has to answer of that subject in Section (IV a) Mathematics and Science or (IV b) Social Studies as selected by the candidate

Online Appli F
@%1??(5%cstl%nsﬂ%r%maauaﬁﬁwwaﬁaﬁ%ﬁﬂwwwawﬁ%mml%mﬁmaﬁﬁwﬁﬁm%|

Online Application Form. The Language-II will be different from Language-1.
GUE [11 (TS~ 11) W6 ATHTh T 1 b AT ST & IoT8 AT BT = SIS WIS - [[h &N AT 16 -T= A R | e - 11 arer - 18 forea et |

OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not
Question Booklet Number.

BB mmﬁ%OMRsﬁzﬁﬁaﬁawmnmgﬁﬁaﬂﬁaaﬁg@ﬁma WE A B | AT OMR 3fte =T GeaiehA
- ST UY A&l ik W9A- st IS Sh. o TR W FRAT ST |

in the Online Applicaton Form.
If a candidate answers the questions of the langu dge or subject other than selected in the Online Application Form, the candidate shall be
personally responsible _for it and it would be treated as wrong.
%mzﬁﬁsamﬁf W%ﬁg@m IV ) IO Td o an (v b amTioes sremaq 8 3d) fowa & gl & ed & 2, fm fawg &1 =wmm seft
AT e -u= |
gﬁ%awa AT TG -U= | =wgfd wrr a1 fawa & WAt R g 7 G o fowa & wedl @1 g wean @ ) 9g s i wd A e
qAT AT AT ST |

Read complete instructions carefully and fill the details from S1. No. 1 to 7 in the OMR Answer Sheet and SI. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising during
scanmeé of your OMR Answer Sheet.
TTH ﬁtmlﬁ7WOMRsﬁE®W1ﬁ4a$m—«rg%m(§aﬁsz)aﬁu%|uﬁmwaﬁ%%ﬁa¥w
‘mﬁmzﬁnwmﬁ% OMR «ffe it THTT & Fewasd g 9T TROmE & Fid T @ IaRart 2 |
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates will open
the Question Booklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in
OMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Questlon Booklet.
EECE T 96 I8 T 150 We © | wendt ey 57 9 & W g w9 - & "o wg gifesg = & T ge-gfeaan # 150
Tee § S 6 9B e 3§ Uy 90 @& &_| OMR ffe W firge R gl @ SR 6 T8 793-99 & AGER sAfeha &l € T W
T -GfEqHT % SO A R AT siferd AT €S R |
All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark. There
will be no negative marking for wrong answers
T A9 S fehedia HehT o & | e WS 1 Ueh fachod 1 @l § | 9elish 95 & fodt frarffi sich wem R | wrovet starm o6 fosit sromresren sieh =i fol soafdt |
All questions other than language questions of Sections II and III shall be bilingual,
TIT-T H W TG @O 11 TF 111 % vt & afafaa 9w aft @vet & wya fgwmia g |
In any event of any mistake_in any question/s, candidates will not be penalized. However ng corrections will be made in question/s during the examination.
w9 7 ot e % fosd TreTa i fohEl WeRR T THETA et GITT | TXTTT ST ST 5 W1 # {ehel] YR T HTET el heardl
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the
uestion Booklet. No additional paper shall be provided.
TR % TF h1d o W - e g ST S1 AT € | 38 WA -t @ 78 wie. | forelt yoer @t srferfkad wwe Suwesr A€t saman s |
Use of Log tables, Calculator, Slide rule, Moblle phone, Pager, Dlgltal diary, Bluetooth, Microphone or any other electronic item/instrument
st ot glowed, Thelp e wil st n disqualficaion fore T SR/ e 0 i At
, TES(1es I, ATSShIHIA AT I YHR HT SEEu] ki
%Iﬁmﬂmqﬁm%mﬁﬁa%mmm% e o
OMR Answer Sheet will be provided along wit m(_%élTeﬁstlon Booklet separately.
OMR ¢fic Us7-Geqeht & a1a SAfaierd Je i
The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
Answer Sheet. The Question Bookletseal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to4 entries correctly
on the Question Booklet. After opening the Question Booklet, ensure that any page/ question is not missing / not printed / torn / repeated. In case,
you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it replaced within 5 minutes by the Invigilator.
Warmn Bell will ring at 5 minutes before closer of examination and the last long bell will ring at closer of exammatlon
YT -TIRAhT IRIEAT_STEA e & 10 T 4& of st | awaﬁmaswwﬁOMRaﬁzﬁwﬁu%&uﬁ YRR § W_| T -
g%wa?rﬂﬁa,qﬁmm% 5 Toee v @1a qu) % w1 ¥ 4 S wlafsedt st Hﬁwﬁ%ﬁ |1;rs‘=r gﬁ:—lm@ﬂﬁ%qsamqﬁma'fw
gﬁﬁmaﬁ%wﬁﬁaﬁaww%/aﬁémﬂwaﬁﬁ% BUTE It ® /AT Tg FE I AR 93 T © | TG A=
g%mﬁ HR H HTE Ffe II2 ST T qTehied STeqeh H qAT Sﬁ:l'rﬁ_’a?“ﬁ'cl'{ & T AUAT T - eI chT dqvicuﬁ | ﬂdlddl‘il?ﬁ
WT%}%SWH@‘W@WW@Q%W LCEC
Write your Name, Exam Center Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Paper Booklet Number
in the gpace pr0v1ded in the Questlon Booklet as well as in the OMR Answer Sheet.
- 1%'T:%OMR sffe R feiika =&\ W TW, e S5 B FE, TEIER, AHF, TE-IEaE €W Fi5, fEe FwHie @ v giea
ShHTeh 3ifehd |
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding
to the question. For marking answers use blue/black ballpoint pen only Gel pens/pencils are not allowed.
3T o IR deh 9% SR A, B, CA DH G T E | wet ang IR BT =TI X IS IR ] OMR e H v {7Ha I e o aoed
Y T R 3R |wﬁaﬁaaﬁ%ﬁ&i#ﬁ%mmwwﬁﬁwzﬁmﬂﬁ | S YR AT AR ST A € |

Correct Method : [ corrECT /st Wrong Method : [ wroNG /e WRONG /e WRONG /e WRONG / e

i 000 @| ™™ ROOO||oQ00o||0o000O||CeC e

OMR Answer Sheet is designed for computer evaluation. If you donot follow the instructions given above and at the backside ofthe OMR Answer
Sheet, 1t m make evaluation b}é;computer dlfﬁcult Any resultant loss to the candldate on the above account shall be of the candidate only.

OMRS Egﬁ OMR ¢fie s fuee fea T fdart TET R, T P TIRT STIhT
%|wwﬁqﬁmﬁﬁ%ﬁ s ﬁ%ﬁwﬁm @?W e B

No candldate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the Original Copy is not mutilated
in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator before leaving the examination hall.
Candidate can carry only the Candldate s OMR co w1th him/her. Question Booklet is not allowed to be taken by the candidate.
HTE qhendl sifem 5] e & o Wi w4 § EI'I%?H% | OMR ¢gfte 1 qa afgd § SH 1Al qCF ICHRIA fora
3 ® | el "EET ¥ i ) ufa (m%ﬁ)ﬁgwr% @Wﬁm&‘%ﬂ%ﬁaﬁ% ;@ﬁ'wﬁrﬁaﬁézﬁﬁ | greTT-hed
%ﬁ%ﬂgawﬁOMRﬁgqﬁwmﬂm #h ! HIT ¢ | AT waer gt OMR Y wier 2t o1 a0 & & | we-gfeasht




